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S 1= IBPS RRB Prelims 2024

R 2020 2021 2022 2023 2024
RRB ferfoes 5076 7001 4483 5538 5709
RRB PO 4201 4846 2676 2485 3551
ER1EIEIR) 100 26 12 60 70
AT T ATHAT 8 42 6 3 11
AL IR EER I T 3 10 10 8 21
FTIET SATSFRTLT 26 28 18 24 30
CA 26 33 19 21 60

IT 59 60 57 68 104
ATHT S TT STTeraTr 838 940 745 332 496
TR 111 AT 156 215 80 73 129
THT 10493 13201 8106 8612 10181
TSy 2023 2022 2021 2020 2019
EIBRE 39 53.5 52.5 52.75 58.5
AETH 50 49.5 45.75 41 415
[EFARS 45 56.75 56.25 48 58
TG 49.75 54 48.5 43.25 55.5
LSEAL 52.75 55.75 57.25 59.75 43.5
g 54.75 61.75 59.5 60.5 64.5
[EGIEERCE 55 59.75 57.5 56.5 59.75
SR ATTOT HT9HTT 46 51.25 47 52 55.25
ARG 51.5 59.25 55 54.25 59.5
FATeH 35 36 44.75 - 46.25
D 48.75 58.25 57.75 - 61
HET WL 50 55.25 54.25 44.25 54.7
AETRTY 46 51.75 53.75 47.25 54.7
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Qe qFaATHed, IBPS RRB PO fferes & st ¢e Arfier 5 aut=m s o,

TSy 2023 2022 2021 2020 2019
LIRS 51.75 - - 56
AT 35 48.25 - - -
e 37
e 59.75 - 58.5 62.75 55.75
I 52.5 60.5 60.25 59 63.5
TSEATH 54.5 60.25 60.75 66 58.5
ATHSATS 50.75 - 50.5 54 55.25
FETTT 39 46.75 51 48.25 54
B - 51 48 - 37.5
IAT TR 53.75 62.5 54.5 47 58.75
IAET 55.5 62.5 60.75 61 65
TS SR 53.25 58.25 56.5 52 55.25
T qaFcaTHed, IBPS RRB forfue ffers #ic sl ¢ ARiie 5 aui=T (aoidT e,
T 2023 2022 2021 2020 2019
AL TR 54 71 69.25 76.25 71.5
EILIE) 65.75 64.25 71 69 64.75
[EFIRS 68.25 70 73 75.5 74.25
BRATERTE 67.5 67.25 71 70.5 75.5
USAE) 74.25 72.75 76.75 78.25 63.25
g 75.25 75.5 75.75 76
ERIEEREN 73.75 72.25 74.25 71.25 71
SR ATTOT TeHIT 68.25 64.5 72 73.5 -
ARG 74.5 72.25 76.25 - 58.5
FATeh 60 67.25 70.75 NA 65.25
D 69.75 76 77 NA 75
AETTY 71.25 67 73.75 67 69.25
MP 72.5 70.25 72.75 66.75 68.25
At 76 77 78.5 79.75 73.75
EEIC] 74.75 74.25 76.5 78.5 77.5
TSTEATT 75.25 75 76.75 78.75 75.25
ArHBATS - 61.25 70.5 NA 68
FETTT 61 61.5 69 71.25 68.5
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TS 2023 2022 2021 2020 2019
BT 69.5 67 NA 71.25
ERER 74.25 76.5 73 74
IqEE 75 75.5 NA 76.75
CIECCEIE] 73.75 74.75 75.75 77.75 74.75
IBPS RRB PO & Clerk 91T A&t
SHEATE ATIATITH AT ST RITATET AT TEATET ST ST g,
IBPS RRB PO & Clerk aJ #3
e ERIGEERS FHTT 9T
IBPS RRB PO 18 99 30 9T
IBPS RRB Clerk 18 99 28 99
IBPS RRB PO & Clerk 3T [
T[T qeF
SC/ST/PWD % 175
AL % 850
IBPS RRB PO & Clerk 4
L[] I aa
IBPS RRB PO %.36,000 pm
IBPS RRB Clerk %.19,000 pm
IBPS RRB Clerk 3+ &0
EARNING AMOUNT DEDUCTIONS AMOUNT
Basic 19900.00 BENFN 150.00
DA 12177.76 NPS 3243.00
HRA 2238.60 NPSEE 3243.00
SPA 3263.60
CASH 1940.00
NPSE 3243.00
GROSS 42762.96 TOTAL DEDUCTION 6636.00
AMOUNT ' '

NET SALARY - 36126.96
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IBPS RRB PO ad

EARNING AMOUNT DEDUCTIONS AMOUNT
Basic 36000.00 BENFN 200.00
DA 20327.63 NPS 5346.00
HRA 2520.00 NPSEE 5346.00
SPA 5904.00
NPSE 5346.00
LERA 891.06
LOCA 700.00
GROSS 71688.69 TOTAL DEDUCTION 10892.00
AMOUNT
NET SALARY - 60796.69
ST T qEdT T ST AT
TRHTOTHF TIar 40 40
FeheThT 40 40 45 fofae
TR 80 80
o TR YATHT HEAT: 80
o T T- 80

T - 45 A (Framh 3@ 71en
fATTeag ATERT- e Feh=aT ST 0.25 T[0T AT el ST,

IBPS RRB PO & Clerk Prelims A+ THhH

LG INIRERIER LI

HATHT AT STaTST: BODMAS, 531 SATT01 -, Tt A1 F4F &, TR 9rieh, sTqurish, 2har<i 3.
FHT HTTCTRT: TETD FHHT e HTTCTHT, FehT= T A AT
SHHTAAT: TR THIHLT, AT TH (0T, TRHATT TAAT
STRATTOT: I[OTITE SATTOT SHTOT, ZHAT, HEAT TOTTeAT &ATTor HCF STfor LCM, |=ra<t, a1, AiaT, fersor sfor

STHTOT, 9365 SATST, AHATE AT, 65 ATTOT HTH, TT2T AT €, FHT ATTUT 1T AT Had, TAT 965 (a, ATe A1 4T,

2, 2D Srfr 3D, HATSAT, FHATLAAA A0 H T =,
ST S Iee: 8 DI, @ &« DI, 9TE =1e DI, ATe+ =1e DI, a1 =1e DI, ff4a DI, *8eie DI

ECARRIECIACREEIC)
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GERC R

o FUHTAT/ HEAT/ Fvg ATl

o FHUTHAT

o ST o T

o RrenfSrEm

o  FIfEw-REET

o fRom-ary

o TH-HAY

o adarre/ Bl s/ SR srEe e
o EVT AT FFET

o T AETRAFIS

o TSI AT USTAT-TeA AT TSt
o fRmm/afRaAT/ad-sratia w e

o o/ T/ sfafera Frt whior

IBPS RRB PO Prelims o fagm

THAHIAT A
ELR] 2023 2022 2021 2020 2019
FTS ATIOT SAFTHAEAT 23 20 22 25 23
e 3 3 4 3 0
TEAT ST AT{oTeRT 0 0 0 1 0
FUTHTAT ST ATToTRT 0 3 0 2 2
FEHTAAT 4 4 5 3 5
- 5 0 0 5 5
Tarferer wor (FveaT e, orea STTevT, 7o oreg) 2 3 3 1 0
T AT 0 4 3 0 5
IEEIIEEE) 3 3 3 0 0
THIT 40 40 40 40 40
TRATITHS TEIAAT A

ELpy 2023 2022 2021 2020 2019
T Teaiueem 10 10 17 10 12
FEere DI 0 3 0 0 0
] 4 5 5 0 0
A FHHHTT 5 5 0 5 6
e /T T HedT ATTereh 5 5 6 5 6
STHTOT 1 SATTO7 STHT9T 2 0 0 0 5 0
SO 9163 THET 13 12 12 15 11
T TATHar 3 0 0 0 5
THT 40 40 40 40 40
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IBPS RRB Clerk Prelims o1 fergom

R 2023 2022 2021 2020 2019
FTS ATIOT SAEFAHTEAT 19 15 15 20 20
e 0 0 3 2 0
FUTHTAT ST ATTershT 3 5 0 5 5
ST 4 5 0 0 5
FIfeT-fRarET 0 0 5 0 0
EIEEREIUESSIEL RERE U E: 3 2 2 3 0
THTHT AT 3 3 0 0 3
IEEIIEEE) 3 5 5 4 5
TEAT T FHH T o 5 5 5 4 2
AT Arfor sFEaTd 0 0 5 2 0
THIT 40 40 40 40 40
TIRATOTCHF TIAAT Fel

o 2023 2022 2021 2020 2019
TeT Tafuee 10 10 10 10 13
TTATHTIT 12-13 14 15 10 10
TS TH LT 0 0 5 0 5
MGG /T T TEIT AT 5 6 0 5 5
FFATTOTA T T2 10-12 10 10 15 7
THIT 40 40 40 40 40

A

MAHARASHTRA
KA MAHAPACK

MPSC Civil Services, MPSC
Non Gazetted Combined, &
More
i gr ADDA247 <t are
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Adda247

Directions (1-5): Study the following information carefully and answer the questions given below:

Eight persons P, Q, R, S, T, U, V and W were born in different years viz. 1994, 1996, 1998, 1999, 2001, 2002, 2004 and 2005 but
not necessarily in the same order. Base year is counted as 2021.

At most one person is older to P. Two persons were born between P and V. Q was born just before V in the odd numbered year. R

is 4 years older to T. W is older to U and just younger to S.

e ST &7 e Y@ steaae fiforg ik = g 1wt F S difr

ASATEP QR, S, T, U, V 3T W T ST7H S-S a6t AT 1994, 1996, 1998, 1999, 2001, 2002, 2004 3T 2005 H 3T &T A fohel
STELY TRl o6 THT A7 § g3 g1l 2021 T e a9 % =9 § {7 v )

STTee | T8 Ueh ATk P & F=T | P 3T V & &= &1 AThAT 3T SIv g3t AT Q FT S+ T oH H&aT atel a9 H V H 3% Tg g am R, T
T4 TG TSTEI W, UH TET 2 3T S § 31 Sler gl

Q1. Who was born in the year 1998?
¥ 1998 # et ST gar 917

(@P

(b)Q

(R

(d)T

(e)U

Q2. In which year S was born?
S FT S+ {3 af & gerr am?

(a) 2002

(b) 1999

(c) 2001

(d) 1998

(e) 2005

Q3. Which of the following statements is true?
fReffaa s 4 4 a-ar g 82
(a) P was born in 1994./ P &7 S+9 1994 ﬁ'@'ﬂT a7
(b) V was born in 1996./ V T 570 1996 § gaTr 4T
(c) T is the oldest among all./ T T & a& T2 A

(d) U was born in 2002./ U T = 2002 & gar o7 MAHARASHTRA
KA MAHAPACK

(e) Ris older thanP./ R, P ﬁa.‘s!T%

Q4. How many persons were born between W and T?

W 3i T 3 = e saReat &1 S gam? MPSC Civil Services, MPSC
()1 Non Gazetted Combined, &
(b) 2 More

(c)3 b

(d) 4 _ g,
(e) Cannot be determined,/ Tt A&t f3am ST @raFvaT s a1 ADDA247 <t &g
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Q5. Who is the oldest person among them?
ST A qEq ST ARF R 87

()P

(b)Q

()R

(d)s

(e)V

Directions (6-8): In each of the questions below some statements are given followed by two conclusions. You have to
take the given statements to be true even if they seem to be at variance with commonly known facts. Read all the
conclusions and then decide which of the given conclusions logically follows from the given statements disregarding
commonly known facts.

Frer T 1T T o W 5 U S SOk 91 & Ao U T ) Sraehy fRT T AT a4 HEAT E, S g F QI 19 a1 o
e et g gl |+t et & af@ o e ar FifSrg ok i g Aot & & -4 A arm= ST i &1 FerEiarst #3d §Q
TR T et T ATl € ATET FAT B

Q6. Statements: All flowers are plants. Only a few plants are fruits. No fruits is vegetables.
T T BT 9T E| FA Fg U1 FA gl HTS Bl oo [ A5} gl

Conclusion I: Some flowers are fruits.

Aot 1: 5 B FA 2

Conclusion II: Some plants are not vegetables.

Foreamef 11: o vy AR Y 2

(a) If only conclusion I follows./ 7% Faer fAwe [ TELIT R LAT g

(b) If only conclusion II follows./ IT= Faer A [ ST FLAT S

(c) If either conclusion I or II follows./ T a7 AT FATEHT [ AT 1 SATHLOT FLAT &

(d) If neither conclusion I nor II follows./ T2 7 a7 fAehd [ T T ST 1 FHLOT FATE
() If both conclusions I and II follow./ =If& fAs=ht [ sfe 11 2ot WW%

Q7. Statements: All mammals are bird. All birds are eggs. No eggs are reptiles.
FAT: THT TG TeAT g1 AT TefT 312 €| FE =7 9097 721 o

Conclusion I: Some mammals are eggs.

Ao I T5 Taam o 2

Conclusion II: Some reptiles can be birds.

e 11: = 09T TeiT 31 9 2

(a) If only conclusion I follows./ Tf& Faet T [ SIHTOT F¥AT §

(b) If only conclusion II follows./ T= Faer AT [ SATHLT FLAT 5

(c) If either conclusion I or II follows./ T IT AT TATEHT [ IT 1 AL FLAT 8
(d) If neither conclusion I nor II follows./ & 7 T AT [ 3T T T 1 THLOT FAT §
(e) If both conclusions I and II follow./ 7t AT [ i 11 ST STHLOT Fd &

Q8. Statements: Only a few apples are oranges. All oranges are bananas. Only bananas are grapes.
FAT: FA T 0 HAqL 6| THT HAL HA | HaAA el 3T gl

Conclusion I: Some apples are bananas.

el I: F= 99 el 2

Conclusion II: Some grapes are not oranges.

Al 11: F SR §ax Tl gl

(a) If only conclusion I follows./ ZIf& et fAeh | AHLOT AT g

(b) If only conclusion II follows./ 7% Faret faet 11 AELOT AT g

(c) If either conclusion I or II follows./ T T T w1 AT 11 FTHLOT HTAT g

(d) If neither conclusion I nor II follows./ oIf& 7 a7 At [ ST T T 11 SRR FATE
(e) If both conclusions I and I follow./ f= fAet 1 3f¥ 11 T SRR FAG
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Directions (9-13): Study the following information carefully and answer the questions given below:

Nine boxes are arranged one above the other. More than four boxes are placed below the box G.

Three boxes are placed between box G and box H. The numbers of boxes are placed above box H is same as the numbers of boxes
placed below box C. Box A is placed two places above the box E which is placed just above the box I. Box F and box H are not
placed adjacent to each other. Box B is placed above the box D but placed below box E.

et ST i earagEs® srerae Rforg s A= R 7 st & s dform

AT T T U o SHUL U AT 6T AT 8| T G o 0= AT H AT Fi T T g

I G ST T H % S 1 1o T T | ST H 3 H9% T T T il ST, T C o w1 T T 190 ol ST o GHTT 8| T
E, S8 a1 | % 2t 39 7T T &, T A Tl IHE &I T79 FIL T@T G781 T F &7 Fied H Ush-gay & o6« qg1 7 T0 8| T
B T 1% D % < TET AT ¢ AT ai E & == T@T 47 8l

Q9. Which box is placed exactly in the middle of the arrangement?
FIF-HT T AGEIT F S Heg § @I AT ]?

(@) A

(b) E

(0 C

(d)D

(e) None of these / T7H | FIs Aal

Q10. How many boxes are placed between boxes A and I?
i A 3 1 3 o= Fobaet st <@ TT 87

(a) Two/ &¥

(b) Three/ &=

(c) One/ T=

(d) More than four/ =¥ & stfars

(e) None of these / T7H & FIs Al

Q11. If box F is placed immediately below box D, how many boxes are there between boxes F and G?
7T T F &I Fia D & S = T&T 4T 8, A1 1o F 8T G % = o afea 872

(a) Two/ &¥

(b) Three/ &=

(c) One/ T=

(d) Four/ =X

(e) None of these / % & &S Ag!

Q12. The numbers of boxes are placed between box G and box H is same as the numbers of boxes are placed between
box___andbox ____.

o G S Fi H % = T@ T4 q1o it 9T Sa-l gt g St aieg ___siRag__ dda @ e g frae n g

(a)CH

(b)EG

(c)G A

(dH,B

(e, C

Q13. Which of the following statement is true?
RuRm A s aA-arFem T 8?

I. Box F is placed above the box E

T F T 199 E F 39 T@T AT g

I1. More than two boxes are placed between box A and box |
T A ST T [ o &1 &1 STE dieFe 7@ T 8

I1I. No box is placed below the box H

FIFT H 3 71 1S a(F9 qel TaT AT e
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(a) Both Il and 111/ II 3f< I1I =1
(b) Only I/ FaeT I

(c) Both I and 11/ I i< II =t

(d) Only 11/ Fa<T 11

(e) AllL, 11 and 111/ &Y I, 11 32 111

Directions (14-16): In these questions, relationship between different elements is shown in the statements. These
statements are followed by two conclusions. Mark answer as

T WAL H, FAAT A AT i F = g 91T TAT g1 3T FIAT F I1Q Q¥ [Aewy g1 A A [ w0 7 sifHa

Q14.
Statements/ @PY: [<Q<L=M;K=Q>P
Conclusions/ f&FY: 1.] <P ILM>P

(a) If only conclusion I follows. / T Fae A [ AT FIAT 8

(b) If only conclusion II follows. / Tf% Faer e 1 SITHYOT FIAT 8

(c) If either conclusion I or II follows./ T AT AT fAeRT [ AT 11 ATAT FaT &

(d) If neither conclusion I nor II follows. / #f% 7 T ARt 1 3 T & 11 SIHLOT F2AT &
() If both conclusions I and II follow. / o2 FAT A= [ 7 11 SRR FAE

Q15.
Statements/ PY: A<K<T=C>Y;T=N>P
Conclusions/ fePH: 1. N> A ILC>P

(a) If only conclusion I follows. / &If Faer fAe | TTHLOT h AT g

(b) If only conclusion II follows. / Tf% Faer AT 11 SITHTOT FIAT 8

(c) If either conclusion I or II follows./ @2 =T a7 fAhey [ 47 11 TEIIT /AT g

(d) If neither conclusion I nor II follows. / =% 7 a7 AR [ e 7 2T 11 TEIIT HIAT g
(e) If both conclusions I and II follow. / T FT AR [ 3T 11 ATELT Fd &

Q16.
Statements/ PYT: G=2H>I=L<M;V=K=<0
Conclusions/ TP 1.0 > 1 ILL>0

(a) If only conclusion I follows. / T Fae AT [ ST FIAT 8

(b) If only conclusion II follows. / Tf% Faer FTHT 11 STHLOT FIAT 8

(c) If either conclusion I or II follows./ T AT AT AR [ AT 11 ATALIT FaT &

(d) If neither conclusion I nor II follows. / #f% 7 T fATHT 1 3l T 2T 11 SILHLOT F2AT &
(e) If both conclusions I and II follow. / T FAT ARt [ 3T 11 ATETT FLd &

Directions (17-20): Study the following information carefully and answer the questions given below:

Certain numbers of persons sit in a row and face north. A sits 314 to the left of F. Three persons sit between F and R. R sits 2nd to
the left of C who sits just left of V. One person sits between U and V. U sits right of C. B sits 21d to the left of N and 31 to the right
of U. Q sits 31 to the left of D who sits just right to A. The numbers of persons sit between Q and R is one more than the numbers
of persons sit to the right of N. No one sits left of Q.

FRafria TRt F1 samgEs sregae Hiforg & = R 1o w5 & I &)

fAfara dwear & =rfte v Ot & 93 € o 3% &t A g@ 774 81 A, F % 913 § |y @9 9% 927 81 F 3T R & &= o =it 8% €
C, ST V & &1 arft A 3T €, R & 18 & g8 T 92 327 81 U 3% V& = v =16 F27 81 U, C % 310 F3T 81 B, N % =10 & g%
AT 9T 37T U F 20 F 9L AT 92 93T 81 D, ST A F & a3 937 8, Q 396 14 & 18 T I 927 g1 Q 3% RF 1+ 9% =l
#T 5T, N ¥ a7 3% 95 et T 97 ¥ UF qfere 81 Q F TS A FIs 7l 497 2
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Q17. How many persons are there between D and Q?
D 3T Q ¥F 1= fara=t =af<w 32

(@1

(b) 2

(c)3

(d) 4

(e)5

Q18. Which of the following statements is true?

FReffeT Fe & § #i9-a1 9 87

(a) B sits to the immediate right of N./ B N & 3% 315 93T &

(b) U sits at one of the ends of the row./ U U< & ot T G w921 8
(c) A sits to the immediate left of ./ A, F % & a1 ST 92T &

(d) V sits at one of the ends of the row./ V Uf<F & ot T R v 921 ¢
(e) C sits second to the right of R./ C, R & a4 & E;Fl% M AT 3T 8

Q19. How many persons sit in the row?
i § frae =fe 5 82

(a) 19

(b) 21

(c) 27

(d)17

(e) 18

Q20. How many persons sit between V and B?
VR BF fiw fhav aafr S5 82

(@9

(b) 2

(c) 4

(d)7

(e)8

Q21. In the number ‘479486553’, if odd digits are subtracted by 1 and even digits are subtracted by 2. Then, what will
be the sum of the digits which are 2rd, 4th and 6t from the left end in the new number formed after rearrangement?
&7 '479486553' /, AfS fawsw sl & & 1 werdr ST i< 9 sishi & § 2 TeM™T T4, qF HAGwdT & 918 a1 73 9647 § 970 FIK
T gEY, A AT BS kT HT TRT HT ZR0?

(a) 13

(b) 14

(c) 12

(d) 16

(e) None of these/ Z7H & g 7ot

Directions (22-26): Study the following information carefully and answer the questions given below:
e et # 1 samgEe sreaae FIT ik A= fRw 11 w1t & I diSr)
In a certain code:/ TF AT g #:

“Shuffle new word” is coded as “xf bf go”

“Shuffle new word” FT “xf bf go” & &7 H Feaag AT 1T &

“New word towards corner” is coded as “xf bf hu hh”

“New word towards corner” &I “xf bf hu hh” & &9 # Feag a1 @1 g
“Towards chapter word table” is coded as “hu qt bf dm”

“Towards chapter word table” &I “hu qt bf dm” % &9 & ETEE- FaT T g
“Table around towards” is coded as “dm ch hu”

“Table around towards” FT “dm ch hu” % &9 & Feag T = g
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Q22. What is the code for the word “Towards”?
T “Towards” & (T Fe =T 8?7

(a) bf

(b) hu

(c) qt

(d) dm

(e) None of the above/ SUZIRF & | &I Agl

Q23. What is the code for the word “chapter”?
“chapter” 9153 % foIT Fe 7T &2

(a) bf

(b) hu

(c) qt

(d) dm

(e) None of the above/ SUZIRE & | &S Al

Q24. Which of the following word is coded as “ch”?
FAefafed & & 5 52 &1 "ch" F &9 | Feag fFar w2
(a) New

(b) Word

(c) Towards

(d) Around

(e) None of the above/ SUZI<F § | &S Al

Q25. What is the code for the word “Table new corner”?
“Table new corner” 153 & T F& FT 8?7

(a) bf go hh

(b) hu hh dm

(c) gtch hu

(d) dm hh xf

(e) None of the above/ SUZI<F § | IS Al

Q26. Which of the following word is coded as “xf’?
fFrafafeg & @ fr ase &1 "xf" % €7 | Feag @ e?
(a) New

(b) Word

(c) Towards

(d) Chapter

(e) None of the above/ SUZI<F § | #I5 A1

Directions (27-31): Study the following information carefully and answer the questions given below:
Seven persons from M-S live in seven storey building and belongs to different countries viz. Italy, Canada, Germany, China. Spain,
India and Brazil but not necessarily in the same order. The bottom most floor is numbered as 1 and so on till the topmost floor

is numbered as 7.

S lives two floors above the one who belongs to Brazil and live on prime numbered floor. More than two floors gap between S
and the one who belongs to Canada. N belong to Spain and lives three floors below the one who belongs to Canada. O lives just
above the one who belongs to Italy. The numbers of persons live below M as same as live above R who lives just below P. The
one who belongs to China lives just above the one who belongs to India.

e T FT samgEes sregae Hiforg & 9 R o it & I &)

M & S T AT TR ATq W1 A § ¥gd 8 e fAfse 3o stafa eeh, wareT, STHHAT, =0, T, 9 3 JTeiie & 8 ofshe sredt
Tl T =t o | g1 wad et /e A 18w A T4 8 ST TH TR #HIG 0 g0 Fad FH JISA w7 H FACRT

o T B
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S, STStier & Harfarg =t & <1 §iorer SU% TgaT 8 Y ST9TsT 56T ATt HiSre 9% TaT 81 S 3f¥ FATeT & Hafard =af<h & o= af "ot
H o1fersh &7 3faT g1 N &9 | Haferd g 3T FA7eT & Fafaa =7fs o= /o = a1 81 0 T2t | #afara =f<r & 3 39 T8al gl
M F 1= Tg ATl ARl it TEAT, P % S {9 @A aTel R % FAL L@ aTel AR Y §AT F 9 21 S oA 7h N 7 g, 98 9
T gafera =afh % St S At 2|

Q27. Who lives on the 5t floor?

5t e T T AT R

(@)Q

b)S

(c) The one who belongs to Italy/ &g ZI1<F ST Tao(l & Haterd &
(AR

(e) Both (a) and (c)/ (a) 3T (c) =T

Q28. Which country does O belong to?
0 ey 297 & Tt &7

(a) India/ |1

(b) None of these/ T#H | &I Aal

(c) Brazil/ SITS{Ier

(d) China/ ==

(e) Germany/ STH+T

Q29. How many floors are there between P and the person from Canada?

P 3R FATeT & AfRE & A= et v 82

(@)1

(b) 2

(c)3

(d) 4

(e) Cannot be determined,/ A&t F&T foFaT ST Tl T

Q30. Which country does the person on the 3rd floor belong to?
e Wit w1 =afe e ST &1 82

(a) Germany/ STH+T

(b) Brazil/ aITstter

(c) Italy/ Teeft

(d) China/ ==

(e) Canada/ &ATST

Q31.Ifall the personslive in alphabetical order from top to bottom then how many persons remain at the same position
(Excluding M)?

e a9t =ae 999 FUC | G99 19 T TUITHA A TGd g dT Fohaet SqT<h UF of T I I+ @ 872 (M & FIEH)

(a) One/ TH

(b) None/ &< &t

(c) Two/ =¥

(d) Three/ &=

(e) More than three/ o+ & s7far

Directions (32-34): Study the following information and answer the questions given below:

W walks 8m towards west from point P to reach point Q. He takes a left turn from point Q and walks 10m to reach point R. He
takes a right turn from point R and walks 12m to reach point S. He takes another right turn from point S and walks 6m to reach
point T. He takes a left turn from point T and walks 8m to reach his home.
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e s 1 stegae fifong st = Rw 1o e % s dfom

&g Q@& 79 & forw W &g P & ufer 7 & 8 Hiex =«ar 81 a8 &g Q & arg v {=ar g i &g R 9% wg= & forw 10 #Hiex
T gl ag fog R ¥ IS 3T q=aT g oY feofg SaF ug=e & forw 12 e orar g1 a8 &g S| vs o o 310 qzar g oiw g Ta%
Tga & T 6 e 7ear g1 9g &g T/ 910 H=a7 ¢ 3 10+ 9% T 9ga & oy 8 Hiex 7aaT 2

Q32. In which direction is point T with respect to point to Q?
g QF wrawr # foig T o e & @7

(a) North/ 31X

(b) South/ =faror

(c) South-east/ E%W-‘}L_of

(d) South-west/ feror-afarm

(e) North-east/ B?I’(-‘ZET

Q33. What is the shortest distance between point S and W’s home?
W 3 o< o fifg § ¥ e e 28 Rt 27

(a) 22m/22 #Hiex

(b) 10m/10 Hex

(c) 12m/12eT

(d) 26m/26 Hiex

(e) None of these/ TAH & Fls Tal

Q34. What is the total distance travelled by W?
W BT T it 1% F g fobaett &7

(a) 47m/47 Hex

(b) 40m/40 Hrex

(c) 44m/44 Hrex

(d) 41m/41 Hrex

(e) 36m/36 Hex

Q35. Find the odd one out?
SHHT FAT HI1org ST 9= 3
(a) UPR

(b) RMO

(c) LGI

(d) GBE

(e) YTV

Directions (36-40): Study the following information and answer the questions given below:

Eight persons sit around a circular table in which some of them face inside and some of them face outside.

H sits 3rd to the right of K and both face the same direction. I sits opposite K but both face opposite direction. L sits 2nd to the
right of L. F sits opposite D who sits 2nd to the left of E. Immediate neighbor of E face opposite direction as E faces. G sits 31 to
the right of D and not an immediate neighbor of I and K. L and E face inside. G and F face the same direction.

et s T sregae fifog s 9 R g i & s A

TS AR Ta TATHIE HT o6 A A 96 8, NTH § F3 F1 @ (a7 6l AT ¢ 377 T 1 @ d18L 0l A 2

H, K% 3 & q16< 479 92 927 5 37 241 &7 9@ g8 &9 7 €1 1, K % fFodia so1 g e amt 1 q@ oo Remfiraw g L1
% 0 EL T 9T I3T g1 D, ST E F a0 gAY €A1 9¥ 927 8, F 39 f3adia 921 81 E & Meaw 72+ #1 4@ E F faodia Rem # 21
G, D % T8 | THY TIH 92 927 g 9T [ 3% K FT Aehedq T2 781 g1 L 377 E FT T@ 378 AT ¥ 81 G ¥ F &7 9@ 9979 fZer § g
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Q36. Who sits 3 to the left of F?
F & 0 & a9 9 9 F19 327 82
(A H

(b) L

(01

(d) G

(e) None of these / TAH & Fils Aal

Q37. Who sits opposite the one who sits just right of G?

G ¥ 3% TU 93 =Afw F fAwha #19 So1 §?
(a) L

(b) I
(H

(d) None of these / =75 | &I Agl
(e) F

Q38. How many persons sit between E and I when counted from the right of I?
1% M AR & Rt #3792 E 37 1% fi= Fraer =af<e 85 82

(a) Four/ =X

(b) Three/ &=

(c) One/ TH

(d) None/ #T< F&1

(e) Two/ =¥

Q39. Which of the following is true?

fraffed & & si9-a7 a8t 87

(a) G sits 2nd to the left of I/ G, I % T 3l¥ EY TAF X 92T &

(b) H and F face the same direction/ H 3fi% F U= gI fzerm #7 & IHa g

(c) L and D are immediate neighbors / L 3f% D fAsreaw 9=t &

(d) E and G face opposite direction to each other / E 3% G Q‘GF@ £ gt fem fi s IHE 3
(e) All are true/ Y a7

Q40. Who are the immediate neighbors of E?
E % fReeaw a=THt 9 82

(a) Kand F/ K 3T F

(b) Land D/ L 3T D

(c) Gand K/ G 3fiT K

(d)Iand H/ 13T H

(e)Dand G/ D 3T G

Q41. A and B entered into a partnership business with investment of Rs. 1300 & Rs. 500 respectively. After six months,
C joined them with investment of Rs. 1800. At the end of a year, the profit share of C is Rs. 360. Find the difference
between profit share of A and B.

A ST B FA: 1300 T AT 500 T F a9 & 9T AR | UF AT LF [H4AT| T Al & 1%, 1800 T ¥ [aer F a1
C 9% 9T € 4TI TH a9 & i H, CFHT ATH 360 TIT gl A 31T BF ATH & 19 siq< ATq Horgl

(a) 480 Rs./ 480 =T

(b) 280 Rs./ 280 =94

(c) 400 Rs./ 400 &7%

(d) 320 Rs./ 320 =9

(e) 180 Rs./ 180 =9
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Q42. Five years ago, the average age of A and B was 15 years. The ratio of present age of A and Cis 6 : 5 respectively. If B
is four years younger than C, then find the sum of present age of B and C (in years).

gt ¥ 9g, A 3% B #fit s o 15 7 ofh A 3iT ¢ Y adam g T AUt FA4 6:5 71 IR B, C ¥ IR Y Fer §, T B 3R ¢
FAHT A T AN (T4 A) AT Ffow

(a) 34 years/34 T

(b) 32 years/32 a

(c) 36 years/36 T

(d) 24 years/24 T

(e) 40 years/40

Q43. The average weight of eight people is X kg. Two new people joined them with total weight of 151 kg and average
weight of all people increased by% kg. If the weight of lightest people out of two people joined is X-5 kg, the find the

difference between weight these two people who joined later.

1S ATRKIT T AT aot X FHFAITT {1 & TG AR 396 91 JE M e 5 =i 151ﬁﬂﬁmmaﬁtmﬁaﬁ1ﬁa¢r3ﬂ'ﬂamg
AR 9% =T i TS g ET A R A G99 goh AT AT a9 X-5 TRAR &, 31 919§ Q1 g AT Q41 AR % a9 6
f=r %71 A= T fifvw)

(a) 27 kg/27 Trerram

(b) 21 kg/21 et

(c) 15 kg/15 foretme

(d) 25 kg/25 et

(e) 22 kg/22 Tarerram

Q44. A gets 40% marks in an exam and he received 40 less marks than passing marks. B gets 70% marks in same exam
and received 20 more marks than passing marks. If C gets 65% marks in the same exam, then find the difference
between marks received by A and C in the exam.

AT TH TOHT H 40% 3 TTH BT § A S ITAMT (i & 40 3 F7 T 31 81 BT I 74T § 70% 3% YT 31 & i< 39
ST 37T & 20 i ATAF T B g1 TS CH A TXET H 65% 3% Hed 8, a7 T0r § A X C g 9T ki & i+ 3fa< 71
Hm

(a) 30

(b) 60

(c) 40

(d) 25

(e) 50

Q45. A man invested Rs. P in scheme A on compound interest at rate of 10% p.a. for two years and he invested Rs.
(P+500) in scheme B on simple interest at rate of 12% p.a. for same period of time. If the interest received by man from
scheme A is Rs. 150 less than that of from scheme B, then find amount invested in scheme B.

T SA(<h 7 AT A & a9 & [T 10% AT o< § Thg e saTS 9< P &9 7 [Fasr B siw saw gam sty & /s 12% iy
ZT T FTETOT ST 9 JroWT B A (P+500) 793 7 fAaer fm 3fe =1 &1 Tiomm A 8§ Y1 377, TSWT B Y YT 9 8 150 €0
FH §, T IroT BH [aer &t 1 Tfer sma vy

(a) 1250 Rs./ 1250 9%

(b) 1000 Rs./ 1000 =9

(c) 1500 Rs. /1500 &7

(d) 2000 Rs./ 2000 &7

(e) 2500 Rs./ 2500 =9

Directions (46-50): Find the wrong number in the given number series.

Z TS TEIAT FGAT A TG AT AT HIorT
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Q46. 6400,
(a) 400

(b) 12.5

(c) 6.25
(d)3

(e) 50

400, 50,

Q47. 34,
(a) 34
(b) 32
(c) 48
(d) 36
(e) 30

Q48.43, 47, 56,
() 72

(b) 56

(c) 43

(d) 47

(e) 108

72,

Q49.12, 28,
()12

(b) 28

(c) 60

(d) 256

(e) 108

Q50.3, 7,
(@) 7

(b)3

(c) 27

(d) 565

(e) 23779

27, 112,

108,

60, 108, 172, 256,

565,

12.5, 6.25,

32, 36, 30, 38, 48, 40

133,

182

348

3396,

23779

12.5

Directions (51-55): The table given below shows the total number of rooms available in the five different hotels (A, B, C,
D and E). It also shows the number of vacant rooms in these five hotels. Read the data carefully and answer the following

questions given below.

= & € qrierT T STEET-ST gt (A, B, C, D 3% E) H Suwiser w9 it F GEAT IATAT 1 A T AT gl A @It FH Y T
It TeTTAT B SATHST AT SATTYAS ST T i< A= fag 7 et woi & ST divm)

Hotels/| Total number Vacant
iﬂﬁ of rooms/ rooms/ E'E'ﬁ'
P B A Y
HET
A 220 110
B 250 150
C 280 180
D 260 130
E 310 120

Note: Total number of rooms available in a hotel = Vacant rooms + Occupied rooms

T UF Zleel § ITAH FHI 01 T HEAT = GTAT FHL + AL gUFAL

11|
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Q51. Find the average number of occupied rooms in hotel B, C and E together.
gl B, C 3T E # AT WX gu A it oiea 9ed1 A1q Fiforg)

(a) 130

(b) 120

(c) 140

(d) 150

(e) 110

Q52. In hotel F, total number of rooms available is 25% more than that of C and the number of rooms occupied is 40%
more than the rooms vacant in hotel E. Find the total number of rooms vacant in the hotel F.

gIed F H SUASH FHU $T T G&AT, C H ITASH FHU I o G&AT &/ 25% T8 § 3T T FUFAU HT 9&AT, §leet E | @reil FAA T
TAAT | 40% STTEF g1 Ereet F A GTeAT FA Al o GCAT AT FIST

(a) 184

(b) 180

(c)176

(d) 182

(e)178

Q53. The cost of a room in hotel A is Rs. X and the cost of a room in hotel C is Rs. Y. If the revenue generated from the
hotel A is Rs. 55000 and the ratio of revenue generated from C to A is 10: 11, then find the sum of Xand Y.

gled A ¥ TH FHC AT T X T § X ew CH UF AL it A Y T3 g1 IR et A TRT A T 55000 FIY § TT C 3K
A FT ST S 6T ST 10:11 8, A7 X 3= Y &7 T 5i1a fifvrm

(a) 2000

(b) 4000

(c) 5000

(d) 3000

(e) 1000

Q54. Find the number of rooms vacant in D is what percent of the total number of rooms in the hotel B.
T AT % D & GTeAT FAL T AT, Ereet B H FHU Al FoT G&AT HT Foha=T IAed 87

(a) 55%

(b) 52%

(c) 58%

(d) 60%

(e) 62%

Q55. Find the number of rooms occupied in hotel A and D together are how many more/less than the number of rooms
occupied in hotel E and B together.

A D & AT A g FAL 6 64T, ged E i B # AT W guHa i o §eaT § a1 st /59 2

(a) 60

(b) 80

(c) 50

(d) 20

(e)70

Directions (56-60): What approximate value should come in the place of question (?) mark in the following questions.

e i § wri=e (2) % w0 o aaT ST /19 ST 9T Y ?

Q56.
98.99 + 19983 -101.03 =

107.97

>
H
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(a) 2
(b) 4
(c)6
(d)8
(e) 12

Q57.
V7= (27.99)% — 1180.03 + (20.07)°

(a) 64
(b) 100
(c)16
(d) 36
(e) 144

Q58.
19.09% — 20.04% of 190.04—? = 90.12
19.09% — 190.04 I 20.04% —? = 90.12
(a) 233
(b) 247
(c) 212
(d) 202
(e) 285

Q59.

32.01 +1992x 12799 =27
(a) 11

(b)9

(c)8

(d) 10

(e) 12

Q60.

24.01% of 449.98 + 72 = (16.01)2 - 1/63.93
44998 DT 24.01% + ?° = (16.01)* - /63.93

()8
(b) 12
(c)10
(d)9
(e) 14

Q61. In a mixture, the quantity of milk is x liters and water are 8 liters. Five liters pure milk and six liters of water added
in the mixture so that milk becomes 75% of resultant mixture. If 10 liters of resultant mixture is removed, then find the

remaining quantity of mixture (in liters).

T =T & g it AT x e i Tt Y AT 8 e gl A § ui wiex I8 T Si¥ g8 Al I M S § qvie g wiRerHt
Rrsror 7 75% o9 STw| it Rt R @ 1.0 e R R s, av s f aw arE (e F) s fivm)

(a) 48
(b) 42
(c) 56
(d) 46
(e) 37
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Q62.In aright-angled triangle hypotenuse is 8\/ 10 cm and based is half of the height. If height and based of the triangle
are equal to height & radius of a cylinder, then find
curved surface area of cylinder.

TF TV T & Fof 810 Y & 3% s F=TE %7 ot g1 AR By it S 3R s & S i F9E 3R st F awew
&, TT AT T a9 YT STFA AT HIOT

(a) 512m cm? /512 FH?

b) 256 T cm? /256 T HHT?

c) 128 mem? /128 m HHT?

d) 556 wcm? /556 T HHT?

e) None of these /ZH & FIS A5l

~ o~~~

Q63. The ratio of speed of P to speed of Q is 5:8, P covers D km distance in 3 hours and Q covers (D+40) km in 2.5 hours.
If P increases his speed by 25%, then find the time taken by P to cover (D+180) km distance. (in hours)

P Y =T FT Q it I & AT 5:8 7, P, D et &t T 3 &I H 97 #xar & 3 Q (D+40) i g 2.5 e A qu war g1 afx P
AT AT 25% FET 34T &, aF P T (D+180) it it T a1 F § forar 1 w93y wira FifSrm) (=i #)

(a)6

(b)5

(c)8

(d)7.5

(e)4.5

Q64. The sum of five consecutive multiples of four is 200. Find the smallest multiple.
9T % 19 FHEG OIS A1 AT 200 Bl 66 FieT O AT HifIQ)

(a)28

(b)44

()36

(d)32

(e)40

Q65. The speed of boat A in still water is 4 times the speed of stream and covers 24 km upstream in 8 hours. If the speed
of boat B in still water is 2 kmph more than the speed of boat A in downstream, then find the time (in minutes) taken
by boat B to cover the same distance in upstream.

T qT & 19 A FY AT, ST T AT FT 4 AT & T 8 = & gy & fAada 24 Fwft i g a it |1 i ariq arit & w9 Bt
T, ST o AL A1 At =91t & 2 Tt wia =t stferes &, a7 &< & A a6 g a9 s | 91a B g ot /3 ao (et
#) ST HT
(a)210
(b)180

c)240
((d)]300 A

(€)360
) MAHARASHTRA
Directions (66-70): The bar graph given below shows total number of people K A M AH AP Ac K

(Vegetarian + non-Vegetarian) visited in five (A, B, C, D and E) different
restaurants daily. Read the bar graph carefully and answer the questions. . .
13 Py T 2 T SRR T T YRRE (A, B, C, D 9 E) & ST Amsr i MPSC Civil Serv:ces,'MPSC
PR R R E R ECR LR R S T i Non Gazetted Combined, &
¥F 3w &R More

Y
h _._.,J >
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140

120

100

an

&0

20
A B C D E

B Vegetarian / B UPIGRI M Non-Vegetarian / m HiEGRT

Q66. Total vegetarian people visited in F are %th of total non-vegetarian people visited A and total non-vegetarian

people visited in F are 50% more than total vegetarian people visited in B. Find total people visited in F are how much
more than total non-vegetarian people visited in D.

FH ST 9Tt el ATHRTEI AT, Aﬁaﬁmﬁgﬁrmaﬁﬁmﬁaﬁrﬁaﬁaﬁgﬁwmﬁﬁﬁw, BH ¥ a1 FoT
ATHRTETL AT T TAAT A 50% SATF 1 FTq AT o FH T a1k T AT, D F T AT T ATETET AN 0] JAAT A {ohaet SATAH
&

(a) 210

(b) 240

(c) 260

(d) 200

(e) 180

Q67. Total non-vegetarian people visited in C and D together are what percent (approx.) more or less than total people
visited in B.

C 3R D # FA=ToH T o TR ART, BH T F ARM 0l QAT § Tohae ST (FRTHRT) (T8 AT 7 82

(a) 83%

(b) 67%

(c) 44%

(d) 71%

(e) 69%

Q68. If daily same number of vegetarian and non-vegetarian people visited in restaurant D, then find total number of
people visited in a week in restaurant D.

I WERE D ® YIT G0 9641 § ATHTgt sl HiETgRy AR SITd &, a7 TRRE DR TF 9078 § S a1l AR 61 T Se4T 19
Hifm

(a) 1290

(b) 1330

(c) 1310

(d) 1320

(e) 1270
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Q69. Find the ratio of total people visited in E to that in A.
E & T $ ARI HT AH T FH AN SITATT AT FI oI
(a)23:21

(b) 25:27

(c)23:25

(d) 23:27

(e) 28:27

Q70. Total vegetarian people visited in A are what percent more than average number of non-vegetarian people visited
in B and D together.

AT T F ATHTZTY AR, B 3T D # A=A T AiETERY ARM At 3 weaT & fohaw widera srferes 87

(a) 25%

(b) 5%

(c) 10%

(d) 20%

(e) 30

Q71. Average of present age A, B and C is 14 years, while four years ago, average age of B, C and D was 15 years. If the
sum of present of A and D is 27 years, then find the age of D five years hence will be (in years).

A, B3R CHit adAT o 7 3fa 14 a5 g, St F1< a9 9« B, C X D $ shaa oy 15 ¢ o afy A s D & adtwm sy &1 e
27 a5 &, qY ot 9 5= D it oy s [ (7 F)

()21

(b) 26

()17

(d) 27

(e) 29

Q72. A seller has 230 kg of mangoes which he purchases at rate of Rs. 10 per kg. 20% of total mangoes were rotten in
packaging and thrown away. If seller sold half of the remaining mangoes at the rate of Rs. 20 per kg, then at what price
(per kg) should seller sell the remaining mangoes to gain a total profit of 15% on the total quantity seller had initially
(in Rs. /kg)?

T fashar & 918 230 farerum o § S8 a8 10 €0 g e i € 8§ @d<ar g1 1 S|l | § 20% W Fo6iSiT # 98 T K
375 then o ) i fashaT A o= gU ST | & S8 Bt 20 93 wi fhetiume ot & & 9= &1, 1 fashar i AW st - e A
(T ToReTRIT) W S=AT AR T ATl fAshaT &l & | T AT 9T 15% T T A1 ATH &F 96 ? (F93/ e #)

(a) 8.75

(b) 8.25

()85

(d) 9.25

(e)9.75

Q73. 30 women working 9 hours in a day can pack 1000 parcels in 10 days. If the efficiency of woman is % %more than

that of a man, then find how many men will pack 1500 parcel working 5 hours a day for 10 days.
30 wiReTd T R & 9 =T F FF 10 RAT & 1000 wreler & F< Gt §1 X AIRAT HT T=(QT, T[T Y AT H 2 0% ATAF &, AV

3
T Hforg % e T 10 AT o wiifed 5 5 W Fh 1500 qrE O F:1?
(a) 52
(b) 42
(c) 48
(d) 108
(e) 50
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Directions (74-75): Given below in each question there are two statements (I) and (II). You must determine; which
statement is enough to give the answer of question. Also, there are five alternatives given, you have to choose one
alternative as your answer of the questions:

o I T s o & <7 A (1) S (1) g1 amast A T @ & 1w #1 39 3 & o sie-ar w9+ a3id 87 39 Jmar, 1
ey T 1T §, saeRt i % ST F € H UF fAwew T )

Q74. Find out the length of train X given that speed of train X is 20 m/sec.
T X T Fq1E 19 FOg, Tt &1 X ¥ =71 20 Hiewdwe gl

I. Train X crosses another train Y moving in opposite direction in 6 sec and the speed of train Y is 50% more than the speed of
train X.

2 X faoe o & oo T AL &7 Y F7 6 T § I Fdl g AT 2 Y 6l AT of X HF =1 § 50% AT 2
II. Length of train Y is 50% less than length of train X.

A Y FY TS 29 X A A4TE T 50% FH B

(a) Both I and II together/ I 3f% II FFT THATT

(b) Only statement I/ &< Fa |

(c) Only statement I1/ & F 11

(d) Both I and II together are not sufficient/ I 3 11 THT U T TATH A1 &

(e) Either I or II alone/ &T AT 31kt [ AT 3Tehet 11

Q75. Side of square is 3.5 cm more than radius of circle. What will be area of square?
AT T ST g T FBASAT & 3.5 T ATAF &1 A9 HT ESRA T G2
I. Difference between circumference and diameter of circle is 45 cm.

I AT TIRFE T =T F A1 7 siaw 45 THT B

I1. Radius of circle is 50% more than breadth of rectangle whose length is 15 cm. Ratio of circumference of circle & perimeter of
rectangle is 3 : 2.

T & 5T, 15 Y AATS ATl AT HF ATSTS F 50% (e 1 I AT TR ST A T T 7 a1 3:2 €
(a) Only statement II is sufficient

FAA FAT 1710 g

(b) Either statement I or Statement II alone is sufficient

T AT FAT [ AT FA 11 3Tl T &

(c) Statement I and II both together is sufficient

FI [ 317 11 IT THATT TATH

(d) Only statement I is sufficient

FIA FAT [ TATH &

(e) Neither statement [ nor statement I is sufficient

T AT HAT [ S T FHAT [ TAT ¢

Directions (76-80): Solve the given two equations and mark the correct option based on your answer.

o g 3 TR F i g T SHT sTae ST F e qx "t e v sifda fifsrw

Q76.

L2x2—-17x+21=0

IL3y?-y-4=0

(a) if x>y/ AR x>y

(b) if x2y/ Tf= x2y

(c) if x<y/ 7f% x<y

(d) ifx <y/ A x <y

(e) ifx =y or no relation can be established between x and y.

T x = y ATx 3T y F = TS Faer T1ia Tei ohaT ST aar g
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Q77.

I2x2-x-45=0

IL2y2-5y+3=0

(a) ifx>y/ AR x>y

(b) if x2y/ Tf2 x2y

(c) if x<y/ Ff% x<y

(d) ifx<y/ T x <y

(e) ifx=y ornorelation can be established between x and y.

i x = y AT AT y & S Fls Fgag 79T el FhIT ST THhAT 8

Q78.

L2x2—23x+66= 0

I.3y2—-16y4+21=0

(a) if x>y/ AR x>y

(b) if x2y/ TfT x2y

(c) if x<y/ 7f% x<y

(d) ifx<y/ T x <y

(e) ifx=y orno relation can be established between x and y.

e x = y ATX 3T y F = I Gae TATMAT Aol (AT ST HHAT &

Q79.
L2x2+16x+24=0
IL 6v2+ 13y +6=0
(a) ifx>y/ AR x>y
(b) if x2y/ TfT x2y
(c) if x<y/ Ff% x<y
(d) ifx<y/ TR x <y
(e) ifx=y ornorelation can be established between x and y.

T x = y ATX 3T y F A= s Gael TATMAT Al (AT ST qHAT

Q80.
L12%x%-12x=13x-12
IL12y* -13y+3=0

(a) if x>y/ AR x>y

(b) if x2y/ TR x2y

(c) if x<y/ 7fx x<y

(d) ifx <y/ A x <y

(e) ifx=y orno relation can be established between x and y.

T x = y ATX 3T y F = IS e TG Al AT ST HHAT 8
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$1. Ans.(d)

Sol.
Year Age Persons
1994 27 R
1996 25 P
1998 23 T
1999 22 Q
2001 20 V
2002 19 S
2004 17 W
2005 16 U

S2. Ans.(a)

Sol.
Year Age Persons
1994 27 R
1996 25 P
1998 23 T
1999 22 Q
2001 20 v
2002 19 S
2004 17 w
2005 16 8]

S$3. Ans.(e)

Sol.
Year Age Persons
1994 27 R
1996 25 P
1998 23 T
1999 22 Q
2001 20 Vv
2002 19 S
2004 17 W
2005 16 U

S4. Ans.(c)

Sol.
Year Age Persons
1994 27 R
1996 25 P
1993 23 T
1999 22 Q
2001 20 v
2002 19 S
2004 17 w
2005 16 U
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S5. Ans.(c)

Sol.
Year Age Persons
1994 27 R
1996 25 P
1998 23 T
1999 22 Q
2001 20 V
2002 19 5
2004 17 W
2005 16 U

S6. Ans.(b)

Sol.

S$7.Ans.(a)
Sol.

Vegetables

S8. Ans.(e)
Sol.

Bananas
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$9. Ans.(b)
Sol.

Boxes

F

oom|=(mo|=|o

$10. Ans.(a)
Sol.

Boxes

F

DD (@|=|m|c|=|0

S$11. Ans.(e)
Sol.

Boxes

F

DT (m|=|m|5 ]|

S$12. Ans.(e)
Sol.

Boxes

F

DT |m|—(m|o|e o
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$13. Ans.(b)
Sol.

Boxes
F

gl (m|=|m|o|= |

S$14. Ans.(b)

$15. Ans.(e)

$16. Ans.(c)

$17. Ans.(b)
Sol.

$18. Ans.(e)
Sol.

Q A D
L1 1 11

$19. Ans.(c)
Sol.

Q A D
L1 1 11

$20. Ans.(c)
Sol.

Q AD
L1 1 11

S$21. Ans.(c)
Sol.

479486553
268264442
6+2+4 =12
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$22. Ans.(b)
Sol.

Word Code
New Xf
Word Bf
Shuffle Go
Towards | Hu
Corner Hh
Table Dm
Chapter | Qt
Around | Ch

$23. Ans.(c)

Sol.
Word Code
New Xf
Word Bf
Shuffle Go
Towards | Hu
Corner Hh
Table Dm
Chapter | Qt
Around | Ch

S$24. Ans.(d)

Sol.
Word Code
New Xf
Word Bf
Shuffle Go
Towards | Hu
Corner Hh
Table Dm
Chapter | Qt
Around | Ch

$25. Ans.(d)

Sol.
Word Code
New Xf
Word Bf
Shuffle Go
Towards | Hu
Corner Hh
Table Dm
Chapter | Qt
Around | Ch
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$26. Ans.(a)
Sol.

Word Code
New Xf
Word Bf
Shuffle | Go
Towards | Hu
Corner | Hh
Table Dm
Chapter | Qt
Around | Ch
S$27. Ans.(e)
Sol.
Floor Persons Countiry
7 M Canada
6 0 Germany
5 Q [taly
4 N Spain
3 5 China
2 P India
1 R Brazil
$28. Ans.(e)
Sol.
Floor Persons Country
7 M Canada
] 0 Germany
5 Q [taly
4 N Spain
3 S China
2 P India
1 R Brazil
$29. Ans.(d)
Sol.
Floor Persons Country
7 M Canada
B 0] Germany
5 Q [taly
4 N Spain
3 S China
2 P India
1 R Brazil
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$30. Ans.(d)
Sol.

Floor Persons Country
7 M Canada
B 0 Germany
5 Q [taly
4 N Spain
3 S China
2 P India
1 R Brazil
$31. Ans.(b)
Sol.
Floor Persons Country
7 M Canada
6 0 Germany
5 Q [taly
4 N Spain
3 S China
2 P India
1 R Brazil
$32. Ans.(d)
Sol.
8m =
8m
Home
10m
6m
12m
g R
$33. Ans.(b)
Sol.
8m P
8m T
Home
10m
bm
12m
g R
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$34. Ans.(c)
Sol.

8m T
Home

&m

12m

8m P

$35. Ans.(d)

$36. Ans.(b)
Sol.

$37. Ans.(c)
Sol.

$38. Ans.(a)
Sol.

10m
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$39. Ans.(e)
Sol.

$40. Ans.(c)
Sol.

S$41. Ans.(d)
Sol.
Ratio of profit share of A, Band C=1300 x 12:500 x 12: 1800 X 6

=26:10:18

=13:5:9

ATQ, 27P X 21; = 360

9P =360

P=40

Required difference = 27P x % % 40 = 320 Rs.

S42. Ans.(c)
Sol.
Let present age of A and B be ‘a’ years and 'b’ years respectively

a+b=15X2+10=40 years

Let the age of A and C be 6x & 5x respectively
50, we can say a = bx

So,ageof B=5x-4

ATQ, 6x+5x-4=40

1lix =44

x=4
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Presentageof B=5 X 4 — 4 = 16 years
Presentage of C=5 X 4 = 20 years
Required sum =16 + 20 = 36 years

$43. Ans.(d)

Sol.
8X+151 3
ATQ, ——=X+ 2

8X+151=10X + 15
2X =136
X=68

Weight of lightest people = (68 -5) =63 kg

Required difference = (151-63) - 63 =25 kg

S44. Ans.(e)
Sol.

Let highest marks of the exam = 100x

100% X —= 4 40 = 100x X — — 20
100 100

30x =60

Xx=2

Total marks get by C= 200 x % =130

Required difference = 130 - 200 x % =50

$45. Ans.(c)
Sol.

Equivalent rate of interest at rate of 109 p.a. for two years =[10+10+

24 21P _
(P +500) X —~=—==150
3r

100
P=1000

Required amount = 1000 + 500 = 1500 Rs.

$46. Ans.(d)
Sol.
Wrong number = 3
Pattern of series -
6400 =+ 16 = 400

400 +8 =150
50+4 =125
125+2=6.25
6.25+1=6.25

6.25+0.5=125

10x10
10

)=21%

A

MAHARASHTRA
KA MAHAPACK

MPSC Civil Services, MPSC
Non Gazetted Combined, &
More

M’
i e ADDA247 Frar
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S$47. Ans.(c)
Sol.

Wrong number= 48
Pattern of series -
34-2=32
32+4=36
36-6=30
30+8=38
38-10=28
28+12=40

$48. Ans.(e)
Sol.

Wrong number = 108
Pattern of series -

43 +22=47

47 +32=56
56+42=72
72+52=97

97 + 62=133

133 +72=182

$49. Ans.(d)
Sol.

Wrong number = 256
Patten of series -
12+16=28

28+ 32=060

60 +48=108

108 +64 =172

172+ 80 =252

252 + 96 =348

$50. Ans.(a)
Sol.

Wrong number =7
Pattern of series -
3x2+2=8
BXx3+3=27

27 x4+4=112

112 x5+ 5 =565
565 % 6+ 6 =3396
3396 X 7+ 7 =23779
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S$51. Ans.(a)
Sol.

Hotels | Total number Vacant Occupied rooms
of rooms rooms
A 220 110 220-110=110
B 250 150 250-150=100
C 280 180 280-180 =100
D 260 130 260-130=130
E 310 120 310-120=190

100+100+1%0 _ 390

Required average = . i 130
$52. Ans.(d)
Sol.
Hotels | Total number Vacant Occupied rooms
of rooms rooms

A 220 110 220-110=110
B 250 150 250-150=100
C 280 180 280-180 =100
D 260 130 260-130=130
E 310 120 310-120 =190

Total number of rooms in hotel F = % » 280 = 350

Total number of rooms occupied in hotel F =§ % 120 = 168
Total number of rooms vacant in hotel F= 350 - 168 = 182

S$53. Ans.(e)
Sol.
Hotels | Total number Vacant Occupied rooms
of rooms rooms

A 220 110 220-110=110
B 250 150 250-150 =100
C 280 180 280-180 =100
D 260 130 260-130=130
E 310 120 310-120=190

Total revenue generated from hotel A = 55000

X =110=55000

X=500

Total revenue generated from hotel C = % % 55000 = Rs.50000

ATQ,

Y = 100 = 50000

Y =500

Required value = 500 + 500 = 1000
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S$54. Ans.(b)

Sol.
Hotels | Total number Vacant Occupied rooms
of rooms rooms
A 220 110 220-110=110
B 250 150 250-150=100
C 280 180 280-180 =100
D 260 130 260-130=130
E 310 120 310-120 =190

Required percentage = g % 100 = 5204

$55. Ans.(c)
Sol.
Hotels | Total number Vacant Occupied rooms
of rooms rooms

A 220 110 220-110=110
B 250 150 250-150=100
C 280 180 280-180 =100
D 260 130 260-130=130
E 310 120 310-120 =190

Number of rooms occupied in hotel A and D together =110+130=240
Number of rooms occupied in hotel E and B together =190+100=290
Required difference = 290-240=50

$56. Ans.(c)
Sol.

99 + 20 - 101 ~ 228

w

io8

. 108
18 % =

7TR6

S$57. Ans.(c)
Sol.

V7% 784 — 1180 + 400
VIR 4
7R 16

$58. Ans.(a)
Sol.

197 — 20% of 190-7% 90
361 — 38—7~ 90
233 =?
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$59. Ans.(d)

Sol.

25 +22x 27 27
2(5-2) %27 pe 27
210 2y 27

710

$60. Ans.(b)
Sol.

2 %450+ 72=256-4
100

72=252-108
?7=12

S$61. Ans.(d)

Sol.
x+5 3
ATQ 5s™1

x=37
Required answer = (37+5+8+6) — 10 = 46 liters

S$62. Ans.(a)

Sol.

Let height of triangle = 2x

So, based of triangle = x

5x% =640

x2=128

Curved surface area of cylinder = 2mrh
=2m2x X x

=4x 128w

=512m cm?

$63. Ans.(a)

Sol.

Let the speed of P and Q be 5x kmph and 8x kmph respectively.

ATQ,

D=3%x5x=15x ... (1)

Also, D+ 40 = 2.5 ¥ 8x

D=20x —40 .vviiiinen (11)

Solving (I) and (I},

15x = 20x — 40

x =28

So,D = 15x = 120 km

Original speed of P= 5x = 40 kmph
120+180 300

Required time= PSEEL] = — = 6hour

50
100
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S$64. Ans.(d)

Sol.

Let the five consecutive multiples of four be 4a, 4b, 4c, 44d, 4e;
where a=x, b=x+1, c=x+2, d=x+3 and e=x+4 ......... (1)

ATQ,

4da+4b + 4c + 4d + 4e = 200
a+b+c+d+e=50

Opx+x+14+x+2+x+3+x+4=50 ... from (I)
5x = 50 — 10
x=2=8

So, smallest multiple= 4a = 4x = 4 X8 = 32

$65. Ans.(c)
Sol.

Let the speed of stream be x kmph.
So, Speed of boat A in still water= 4 X x = 4x kmph

ATQ,
24

du—x
x=1
So, speed of stream= x = 1 kmph

Speed of boat B in still water=5x + 2 =5x 14 2 = 7 kmph

Required time= 22 = 4 hours= 4 X 60 = 240 minutes

$66. Ans.(b)
Sol.

Total people (Vegetarian + non-Vegetarian) visited in F
=150 X -+ 100 X ~—
5 100
=210+ 150
=360
Required difference = 360 - 120 = 240

S67. Ans.(c)

Sol.

Total non-vegetarian people visited in Cand D
=(140+120) = 260

. 260-180
Required percentage =

180

X 100 = 44.4404 &~ 4404

$68. Ans.(b)
Sol.

Required sum=70x 7 + 120 x 7
=490+ 840
=1330
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$69. Ans.(d)
Sol.

Total people visited E= 130 + 100 = 230
Total people visited A= 120 4+ 150 = 270
Required ratio= 230: 270

= 23: 27

§$70. Ans.(d)

Sol.

Average number of non-vegetarian people visited in B and D
80+120

= =100

Required percentage = 122;;“ X 100 = 20%

S$71. Ans.(b)
Sol.

Let present age of A, B, C and D be a, b, ¢ & d respectively
a+b+c=14X3 =42--(i)
b+c+d=15X3+4x3 =57 - (ii)

a+d =27 ----(iii)

From (i) and (ii)

d-a=15-—--- (iv)

From (iii) and (iv)

d=21

Required age = 21 + 5 = 26 years

$72. Ans.(a)
Sol.

Total cost price of quantity of mangoes seller had = 230 x 10 = 2300 Rs.

So, total selling price of quantity of mangoes seller had, if he had to gain 15% profit = 2300

x 222 = 2645 Rs.
100

Total quantity of mangoes available for selling = 230 x % = 184 kg

Total selling price of half of 184 kg of mangoes which seller sold at Rs. 20 per kg = 184
X =X 20 = 1840 Rs.

== X —=875Rs./kg

So, seller had to sell the remaining mangoes = " 3

$73. Ans.(d)
Sol..

Let the efficiency of a woman be 4x
Efficiency of a man = 4x x i— = 3x

Let the number of men be A
ATQ, 30x4xx9x10 _ Ax3xx5x10

1000 1500
A=108
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S$74. Ans.(a)
Sol.

Speed of train X = 20 m/sec

Let length of train X be x m

From II

length of trainY = 0.5 xm

From I

Speed of train Y = 20 = 1.5 = 30 m/sec
From I & I1I

x + 0.5x
—— =304+ 20

x=200m

§$75. Ans.(b)
Sol.

Let radius of circle = r cm

So, side of square =r + 3.5 cm
FromlI -

2X = Xr—2r =145

r=10.5cm

side of square = 10.5+ 3.5 =14 cm
Area of square = 196 cm?
Statement I alone is sufficient to give answer.
FromII -

Let breadth of rectangle = 2x

So, radius of circle will be = 3x
ATQ -

Z2
2 ®X— ®3x 3
7 —

2(2x+15) 2
x=35cm
Radius of circle = 10.5 cm

side of square = 10.5+ 3.5 =14 cm

Area of square = 196 cm?

So, either statement [ or Statement Il alone is sufficient.

S$76. Ans.(a)
Sol.

[.2x2-14x-3x+21=0
2x(x-7)-3(x-7)=0

3
x=7,-

2
IL3y2-yv-4=0
3y2-4y+3y-4=0
v(3y-4) + 1(3y-4)=0

1
y=-h3
x>y
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$77. Ans.(e)

Sol.

L2x2-x-45=0
2x2-10x + 9x -45 =0
2x(x-5)+ 9(x-5) =0
x=05-4.5

IL2y2—5y +3 =10
2y2—3y—-2v+3=0
y(2y-3) -1(2y-3) =0
y= 1%

So, there is no relation between x and y.

$78. Ans.(a)
Sol.
.2x2—23x+66=0

222 —12x —11x+66= 0
2x(x-6)-11(x-6)} =0

X= Iq—l, 6
IL3y?—-16y+21=10

3y* -9y —7y+21=0
3y(v-3)-7(y-3)=0

¥= 3.1 E

So, x>y

$79. Ans.(c)

Sol.

L2x2+ 12x+4x+24=0
Zx(x+6)+4(x+6)=0
2x+4)(x+6)=0
x=—2,—-6

ILey2+9y+4y+6=0
Iv(2y+3)+2(2y+3)=0
(2v+3)(3v+2)=0

3 2

¥Y¥=—373
X<y
$80. Ans.(b)
Sol.
L12x* - 12x=13x- 12 A

12x%-25x+12=0

12x*-16x-9x+12=0 MAHARASHTRA
(-3 G- 4) -0 KA MAHAPACK

X =-, -
4’ 3

IL. 12y - 13y +3=0
=12y* -4y-9y+3=0

MPSC Civil Services, MPSC

= 12y?-4y-9y+3=0 Non Gazetted Combined, &
=4y (3y-1)-3(3y-1)=0 More
=[4y-3)(3y-1)=0

_3 1
=y =13 it ar ADDA247 <t amer
So,xzv
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